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Question Number : 1 Question Id : 630680367130 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
206 e €9°003)( S0 Dxe
Options :

| x o1 " eagoedod Doagw DD

7 0TI e06G0o [0/1]

5 % (IEIDPE] DDA A0S, DI EDHDOA

A% @c‘ﬁn\l B';)_'j"g“‘OS"'?_) PRORTL

Question Number : 1 Question Id : 630680367130 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following is uncountable?
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Options :
| % The set of a rational numbers in [0,1]

» « Theunit interval [0,1]

;3 % Every subset of countable set

4 » The setof all integers

Question Number : 2 Question Id : 630680367131 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
a Sogod &y 1 D"’igﬂ“go SHACDDY BODCTVDY 23083 AENORSATIATALL SilaY

Options :
v B@an

3. % Bran

4 = Birral

Question Number : 2 Question Id : 630680367131 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The open ball of radius r with centre a is denoted by:
Options :

|« Bla.r)

) ® B(r a)
3 % Blar]

4 % BILa

Question Number : 3 Question Id : 630680367132 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

M 1 1 1
lim [—,.+ +...+———|?

n—oolnz  (m+1)2 7 (n+n)Zz)]"’

03.').353) 2D S dod?

Options :
1.+ 0

Question Number : 3 Question Id : 630680367132 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0

, 1 1 1
i e m|— o +—1?
Find the value of £LEE [": + ey - P {n+n+3]

Options :
1.« 0

7 w1

-

3. %

Question Number : 4 Question Id : 630680367133 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
QOICD DEI00 Ay = (a1, A a3

A, | S S Sod TrHE” D& Ega0 THEY?
Options :
| % {835 an}

Question Number : 4 Question Id : 630680367133 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following is not the subsequence of the given sequence a.=={a1,a2as__an}?7

Options :

%

! ]
) 1d2a84,  Apy

3.9

Question Number : 5 Question Id : 630680367134 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
206 335" D6 Dt I6v
Options :

1
. Y. sin (H)

= 5 gy
, % 2-3 3.4 45
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1

3.4 7 n?

> ttogny?
4. ® 2

Question Number : 5 Question Id : 630680367134 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following series is convergent?

Options :
oL
¥ sin —)
1. % n
SO B B
—t—t—+....0
, % 23 3-4 45
1
3.4 7 n?
oo
(log n)P
4 ® 2

Question Number : 6 Question Id : 630680367135 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ap=<(-1)"n> o7 Doaf LRAVGIVHD 0B, S0 JoSwES” DB HTIO?
Options :

| x Ay OO EOJOT DEDHA0D

.« M ©TO JZOA0MT Sihedod

s o Ap R0 Eerabarrann Sodoin eDdmEHn

4% an e9a8y c.)ﬁ-aa%jm

Question Number : 6 Question Id : 630680367135 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Ifa,=<(-1 )™ is sequence of real number then which of the following option is correct?
Options :

| % apls monotonically increasing

5 % a,, is monotonically decreasing

5 s oscillatory and unbounded
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4% a,, is bounded

Question Number : 7 Question Id : 630680367136 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Let A be any set, If S={f | f: A — P(A) onto} then S is ?
Options :

1. % TUncountable

o % Infinite

3 % Non empty

4 + Countable

Question Number : 7 Question Id : 630680367136 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A DB LA daioy, S=If| £ A — P(A) Dogdan ] esondd S ?
Options :

L% @‘&30@550

7. # eadodo

3 % %\Pf)gejd

L ﬁsa&‘.ﬁ“ééo

Question Number : 8 Question Id : 630680367137 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A—{-1+;n € N}? 008, 05500 HMID S1F0l

Options :
v -1}

5w {1}
3 = {0}

4. % {2}

Question Number : 8 Question Id : 630680367137 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1
Find the derived set of A={-1+;7 EN}?
Options :
v -1
, % 11]
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Question Number : 9 Question Id : 630680367138 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

808 (DS HBKe30TH0%:

"

—> ®©00

A: ONE DOADE an, 2E an = < -

n

B: OMET A0S an, a& G an = < T > 0[O 0

90N DA HebsRr BOCHEGHOR?
Options :
| % g A

, v g0 B

3 x A abaw B argdo

4 % A dor B seo

Question Number : 9 Question Id : 630680367138 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statements:

. . G L.
A. lim superior a,), where a,=< — 5~ = is0

"

B. lim infimum a,,, where a,=< — 5~ = is 0

Tell that which of the statement is true?
Options :
| % OnlyA

, « Only B

3 % BothAandB

4. % Neither Anor B

Question Number : 10 Question Id : 630680367139 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following is the statement of Heine borel theorem?

A. A compact subset of metric space is closed and bounded
B. Every closed and bounded subset of R™ is compact

C. Every subset of metric space is compact
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Options :
| % OnlyA

, « OnlyB

; % OnlyC

4 % AllA B, C

Question Number : 10 Question Id : 630680367139 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

808 ¢35’ 578 SBO DT 050 TINEY (95 IE?

§)

Ry

A : |38 @odTrFo ABE) STorF(00o DA DOSYB0 BN HODPR GO

s
B : R 3B} 19963 005980 08050 HBQ &I D08 Ddmw

C : D|¢35 @0STF0S' D HA GIDDS 5707 908
Options :
- NS

, v BAFSD
L% C TSR

L% e:rb;lAB,C

Question Number : 11 Question Id : 630680367140 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
According to Cauchy root test, if

1
Ya, is positive term series such that lim(a, )" = [ then the series
n—os
(i) Converges if <1

(ii) Diverges if [=1

Which of the following statement is true?

Options :
| % Onlyi

, % Onlyii
3 + Bothiandii

4 % Neitherinorii

Question Number : 11 Question Id : 630680367140 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Fa wrd SHEre DO5) H5vo,
Ta, @0 I{f:g(a,,)i‘ = dhg OO 3 e (365 oS’ & edigssn
() l=1 e20008 e98)00E00 e9:3)e8000

(i) |1 200083 e9d 000 L3N
S0 505" DB {Toby?

Options :
| % PG
5w Il &g

3.+ | a0b0o3w ii Dot

& 1T BT i 5 DO 5

4

Question Number : 12 Question Id : 630680367141 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following:

AU(f.P]—I_.{f‘P){ 1-|b—a§
B. |[P|| over the interval [a, b] = 5 i erfdx
2 J;b cf dx = 3. €

Options :
1 % A-1.B-2,C-3

5 v A-3.B-1,C-2

Question Number : 12 Question Id : 630680367141 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Bod TP 26 dohod.

A U(f,P)-L(f,P) < 1. |b-3]
B. [|PI| e20t300 [a, b] = 2.c["fdx
o8 _['; cf dx = 3. €
Options :
| = A= B-2 C-3
> & A3 B4 C-2
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3 % A-1 B-3 C-2

4 % A3 B-2 Ca

Question Number : 13 Question Id : 630680367142 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct?

(i) Every subset of countable set is uncountable

(ii) N X N is countable

(iii) Countable union of countable set is uncountable
Options :

| % Only (i)

5 Only (ii)
53 % Only (iii)

4R All (1), (ii) and (iii) are correct

Question Number : 13 Question Id : 630680367142 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S08 oS DTHD IO?

(i) ri£32 De3g DDA G0, DA EDIDN eDoP[So

(i) N X N riead Jresgo

(i) ciead Frasg DDA GG, (oSN HDV TR0 edopgte
Options :

(i) S(5aDd

1. %

) o (i) ST(SD

5w (i) S

L% 29y (i), (i) B3 (i) HJHD

Question Number : 14 Question Id : 630680367143 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the squeeze principal if [imf(x) = [ = limh(x) and limg(x) exist and eual tol,
x—a x—a 3 X2

then arrange f(x), g(x), h(x) in their respective order?

Options :
L v FOO = g(0) < h(x)

5 % g(x) = hix) € f(x)

53 % f()=h(x) < g(x)
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4. ®

h(x) = glx) = f(x)

Question Number : 14 Question Id : 630680367143 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time

: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BB ©rgo st limf(x) =1 = Umh(x)  apasn MIK) m goexe, 1 © daropod, )X),9(0), h(x) oo

T8 Do2odS Sanoes” €950 0.

Options :

1.9

2. %

3. ®

4. &

fx) = g(x) = h(x)

g(x) = h(x) € F(x)

f(x) = h(x) < g(x)

hi(x) = glx) = f(x)

Question Number : 15 Question Id : 630680367144 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time

: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statement:

A :-lim(a, + b,) = lima, + limb,

B:- lim(a, — b,) = lima, — lim b,

C :- lim(a,b,) = lima, limb,

Which of the following statement holds true?

Options :

1. %

2. %

3, %

4.

Only A

Onlv B

Only C

AllA B, C

Question Number : 15 Question Id : 630680367144 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time

: N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
06 50070 Dotiood -

A :-lim(a, + b,) = lima, + limb,

B:-:-lim(a, — b,) = lima, —limb,

C :- lim(a,b,) = lima, limb,
308 TOS” D& DEgDw?

Options :

1. ®

2. ®

A S(¢5ah

B [ ¢had
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. C NV

4\_/&95&&8,(3

Question Number : 16 Question Id : 630680367145 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a metric d on a non empty set X, the metric space is represented as ?
Options :

| (X d)

5  [X.d]
3 % (X d]

4. % [X-d}

Question Number : 16 Question Id : 630680367145 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
B0 DDA XS 2005 d 3 Dowodod, DHS BT o T rdoeceod?

Options :
v X d

) = X d]
3 % (X. d]

4. ® X d)

Question Number : 17 Question Id : 630680367146 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The usual topological space induced by usual metric is denoted by which of the following?
Options :

L dx y)=

X-y|
) A y) =[x+l
5 % dx, y)>0

n % d(x__ }r) < O

Question Number : 17 Question Id : 630680367146 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Foe0Es DHE BT VOB 0 HRTRES odTERD 00 " B TPYDR AFPDSEISI0R?
Options :
L X Y) = X-Yi
11/87
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o x dX YY) = X =y
;% dX, y) >0

4 % dX, Y <o

Question Number : 18 Question Id : 630680367147 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following represent triangular inequality?
Options :

| v d(x,2) <=d(x,y) +d(y, 2)

, % d(x, y) +d(y, z) = d(x, 2)
5 = dx. y)+d(y. z) <d(x, 2)

4 % dx, y)+d(y,2) +d(x,2) >0

Question Number : 18 Question Id : 630680367147 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

308 S DB HZDEFSO LIVDATIHD AFPD0E?
Options :

| v diX, 2) <= dix, y) + diy, 2)

7 ® dix, y) = diy, 2) = dix, 2)
; % dxoy) + diy, 2 < dix, 2

4 % dX, y)+dly, 2+ dix, 2) > 0

Question Number : 19 Question Id : 630680367148 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Givenset A= {(X.y) eR2:y>0.x/y>T}is __ ?
Options :

1L Open

o % Close
3 % Semiopen

4 Compact

Question Number : 19 Question Id : 630680367148 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Q0D D A={(x,y) eR2:y >0, xfy >7} O __ ?
Options :
| v DDyD0 (@A)

5 x Dodyso E8)
3w AS DDYB0 R L)

B
4% To.ﬂ“gfé)owgo}l

Question Number : 20 Question Id : 630680367149 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If d(X. y) = (X - ¥)* then which of the following is true?
Options :

| % disameftriconR

2« disnot metricon R

5 w d satisfies triangular inequality

4% d does not satisfy symmetric property

Question Number : 20 Question Id : 630680367149 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
diX, y) = (X - V)2 e90208 306 70 DO D0ok?

Options :

| » ded0 Rp 2085

, v R dooés s

3 % U Q200 RIS DoB)RDERVD
4 % o 6oL d Dodypnoscd

Question Number : 21 Question Id : 630680367150 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A topological space is if every point x of X has neighbourhood base consisting of compact neighbourhoods?
Options :

| ® Compact

» « Locally compact

3. % Connected

4 % Finite metric

13/87
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Question Number : 21 Question Id : 630680367150 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
X 0308), 98 Do) X ToarEF04D) FaDENOE SPED FAD STTT) SN Gl 2.5 B rRSS wosT Vo

e900E) ?
Options :

L a
L% S“oﬂ“gfé)omgo)

ISP SPoarSR0850)
2. B R

3. % DOLrHo BODDE &0l

4w DODO DHS

Question Number : 22 Question Id : 630680367151 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following interval is compact in R?
Options :

L s [0.D)

) v [0.1]
s« (0.1]

Question Number : 22 Question Id : 630680367151 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
308 S° DB R &° 5050800 &oenod?

Options :

7w [01]

Question Number : 23 Question Id : 630680367152 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
STATEMENT 1:- Every compact Hausdorff space is regular

STATEMENT 2:- Q with usual metric space is not complete

Which of the following statement is correct?
Options :
| = Only Statement 1 is true

» % Only Statement 2 is true

14/87
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3.+ Both the statement | and 2 are true

4 % Neither statement 1 nor 2 is true

Question Number : 23 Question Id : 630680367152 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
VSO 1. P 0E(R0800) ﬁﬂ“iﬁéb 90830°F0 SaDOTT G000k

DSOD 2. Foroee 2B eostevod Q Voo TRG

S0d S DTOD b2
Options :

. 1DEES 1 S35 V&0

- 1DEES 2 S| V20

3 251 sfoin 2 Gotir Dao

4 % VSO 1T 2 26 ro T

Question Number : 24 Question Id : 630680367153 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A metric space is a pair (X, d), where X is a set and d is a function from X = X to R such that the following conditions

hold for every x, v,z € X.
1. Non-negativity: d(x, y) = 0
2. Symmetry: d(x, v) = d(v, X)

Which of the following statement is true?
Options :
1. % Statement 1 is true

> # Statement 2 is true
3 % Statement | is true but statement 2 is false

4.+ Both the statements are true

Question Number : 24 Question Id : 630680367153 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
D05 DO DO 28 28 (X, d) ag)c X &dd w8 26 s0bain d edd X « X 006 R 569 &0l Do&D 908 D X,

y. Z € X E0 S06 Hoeen &obron.
1 pAsTos SHH. dX. y) 20
2. Hoorna. dix, y) = diy, X

30d areded” D6 Dawo?
Options :
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| % 05O 1920

) ® 2502 20

" VSO 1 Do 0B DSOD 2 By
3.

4 006D HELIW D

Question Number : 25 Question Id : 630680367154 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
What are the steps to find whether the function is continuous or not?

1. The limit of the function f{x) should be defined at the point x = a.
2.The function must be defined at a point a to be continuous at that point x =a
3.The value of the function f{x) at that point. i.e. f(a) must equal the value of the limit of f(x) at x = a.

Arrange the following in chronological order?
Options :
. % 1,2,3

, o 18

3 % 3,21

4 % 1,32

Question Number : 25 Question Id : 630680367154 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DDOOD0 D) oTT £olS S8 DeniuEHdS D D062

120030 fix) COS); DA X = @ Dot DY DOLIoeTd,

2. X -2 a6 @Df.’)bféon“ 0006 HAOO SYDVOT Dochay a8 HG Doomd

3.85 Dot DG fix) Hanode Densd, eadre fa) SDYIVBMT X = A DG fox) e906 DeLHDD DaATSTE ot d.
200 TN SNg00es” €950y 0C?

Options :
1. % 12,3

2 o 213
3333,2,1
4231,3,2

Question Number : 26 Question Id : 630680367155 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A metric space is complete if any of the following equivalent conditions are satisfied:

1.Every Cauchy sequence of points in X has a limit that is also in X

2.Every Cauchy sequence in X converges in X

3.Every decreasing sequence of non empty closed subsets of X with diameter tending to has a non empty intersection

State which of the following statement is correct?
Options :
| % Onlyl

, % Only?2

; % Only3

4w AllL23

Question Number : 26 Question Id : 630680367155 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
308 BADTODD DOBVS” DT VoD BodH WA 0BT Vo DETIIPE0E:

1. X & Dochape DA Fh eangive X&° 67t 6y 900D 90 eotuod
2. X &°9 5O B essngano X5 0908 Docechod

3. &°§R0...e900§ o s X 03008), BTRBC Do GBIV 28 ESRNIt 0958 5ee g0 EIfale
D50 5BAG 00

200 TrAS” B PJHE DOyl
Options :

Lx ] S| ed o
5 % 2 37(SD
5 % 35S

L e:rff);,; 1.2 3

Question Number : 27 Question Id : 630680367156 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following function according to their continuity?

Afx)=3x+7 1. not continuous

1ifx>0 2. uniformly continuous on R
B.f&x) = {0 ifx<0
c.vx 3. uniformly continuous on [0,00)

Options :
1% A-1,B-2,C-3

5 & A-2,B-1,C-3
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; % A-1,B-3,C2

4 % A3,B-2.C-l

Question Number : 27 Question Id : 630680367156 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
306 00O T8 @Da&b;l@ D500 &SD0N0C..

Af(x)=3x+7 1. @D&aa:}_o B

T ifx>0
B'f(")‘[n ifx<0

C.Vx

(=]

- RD 807D 0Dy &

Cad

- [0.0) B ISEFD DN &

Options :
| ® A-1 B-2, C-3

s & A-2.B1,C-3
3 & A B-3 C-2

4 % A3 B-2 Ca

Question Number : 28 Question Id : 630680367157 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Let (A, p) and (B, 1) be metric spaces, and suppose that f : A — B be a continuous function from A to B. If A is
connected, then 2
Options :
| v lmage f{A) is also connected.

, % lmage f{A) may not be connected.
;3 % Connected only if A is natural number

4 % Connected only if B is connected

Question Number : 28 Question Id : 630680367157 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(A, p) uboid (B, T en 2S5 eodoryren swdoin f- A — B 938 A 2ol B 005 DD PDOOTO B9
22205000, A £9:IRD0EFS0 IOZICE, DD

Options :

| v ©8dozo fiA) syt Dowrdo dobaeod.

, % D8Do20 fA) Dotrdo Somacsacy

3 % A D5 Do) L900B ATGD DOLTD0 9B
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4 % B P0orrdo Somnds Srgad Dorrde BonE0dd

Question Number : 29 Question Id : 630680367158 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A subset U of X is a union of (possibly infinitely many) open balls if and only if ?

Options :
| v Ulsopen

o % Uisclosed
3 % U ls compact

4 % U lssemiopen

Question Number : 29 Question Id : 630680367158 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

U o5 Xe9d &dddod 2060y08" DGR DOYS 0BV ([EDD Sy DRLTD0 (DOLFHIOTT DB e:3S)
22aNEI00)
Options :

| U B8D@DD)80) &od

5 % U Doaydo 900004

_ U S“oﬁ“%(?ooé‘@o) e9000EdD

4 % U Jras Daysio R0 &) ©00dd

Question Number : 30 Question Id : 630680367159 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
If B«(.) and By/(.) denote open balls in space X and Y respectively, f is continuous at x if and only if 7

Options :
., there exist £ > 0 : f[Bx(x : d)] < By[f(x). €]
5 there exist 5 > 0 : f[B«(f(x) : d)] < By[x. €]

3 there exist 6 = 0 : f[Bx(x : d)] < By[f{(x). €]

4% there exist € > 0 : f{Bx(f(x) : d)] < By[x. €]

Question Number : 30 Question Id : 630680367159 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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By() 080520 By() a0 eostrvo X andoin Ye&© 0 erSy (D0 208000) rdl, _ D006)y0s”
aorgan f edd X o¢ I OFF €:062000.
Options :
. ©% & e>0: fBdx: d)] cB/f(), ] GOBD

@%).¢5 &> 0 : fBf(x) : d)] CB/X, £] GOTD

2. %

3 %06 &> 0 : f[Bu(x: d)] C BJ[f(x), £] OIS

. ©%8y¢ > 0:fBdf(x) : d)] By, €] = TOTATS

Question Number : 31 Question Id : 630680367160 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Let p be a prime and a, b € N. If p | ab, then which of the following holds true?
Options :

|« Plaorp|b.

, » plaandp]|b.
;3 % p=ab

4 » Paandap

Question Number : 31 Question Id : 630680367160 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

P 28 Do Do o, @, b € N pi1ab, ©0nad Sod or0S° IO Pod?
Options :

|« Pradopib

, % P1aadoivpib.

3 % p-ab
4 % Psa 0bosv ap

Question Number : 32 Question Id : 630680367161 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following can be the value of 24 = xmod12?
Options :
. 0

2.31

3.32
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4. % 3

Question Number : 32 Question Id : 630680367161 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
308 de” DB 24 = xmod12? Jensd S0y

Options :
1.+ O

Question Number : 33 Question Id : 630680367162 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A positive integer is divisible by 9 if and only if the sum of its digits is divisible by ?
Options :

1. % 3

2.4 9

Question Number : 33 Question Id : 630680367162 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
25 (S QFYPoSo, TP 9050 Ao PO 2PHoDCR0NED Srga 9 TPD° 2o tduoly?

Options :
1.% 3

2.4 9

4. % 15

Question Number : 34 Question Id : 630680367163 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given a=b mod n is true if and only if 2
Options :

| v Di(a—b).

, % hl(athb).

;3 % ni(b-a).

4 % hiab).
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Question Number : 34 Question Id : 630680367163 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

asbmodnedd RIODIRIDNED DFGRD GBI IZDBO0E?
Options :

|« i@ - b.

> % i@« b
3 = hib-a)

4 % h@b)

Question Number : 35 Question Id : 630680367164 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following theorem states that, "if p is a prime number and a is an integer not divisible
by p, then aP! is Congruent to 1 modulo p"?

Options :

1. % Wilson's theorem

2« Fermat’s theorem
3. % Hurtz theorem

4. % Schwartz theorem?

Question Number : 35 Question Id : 630680367164 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

808 DT 0T, "p (DS SO SHECIN a A p& 2ROV SFEHoB S ONS, ak!
OTE 1 87055 p& DB SHXATSOM E0EN0H” @ BOGHBONE DE?

Options :

8
[ % 9035 n)cmavoe‘_éo

2.

3 %

Question Number : 36 Question Id : 630680367165 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Wilson’s theorem, any number n is a prime number if and only if, 2
Options :

L {n-1)! + 1 is divisible by n

22/87



14/09/2023, 18:04

» % (0-1)!- Lis divisible by n
3 % (m)! T 1isdivisible by n

4 % ()!is divisible by n

Question Number : 36 Question Id : 630680367165 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DOyD dgrodo PsPCo, ‘&otﬁﬁaoeﬁé SPGD BT DoAY N 25 PTD DoaY NB0E?
Options :

o (D)1 O n & SO° 2 BOTHDAI )

- (n-1)!-1 @9 n & 50" 202 I ICH
L x (M1 @OITA n o SO° 2rHotID GBSO Ik

(n)! 020 n o°(Te ePNHotWENDYE
©

Question Number : 37 Question Id : 630680367166 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the value of ¢(5), where ¢ denotes an Euler function?
Options :

1.« 4

Question Number : 37 Question Id : 630680367166 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ 9l oired 20000 0LE ¢ (5) e Jogh?
Options :

1. 4

2. % O

3 % 6

Question Number : 38 Question Id : 630680367167 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Consider the following statement:
A If a number is divisible by another number (other than 1), then it is a composite number
B. Any even number greater than 2 is a composite number
Which of the following statement is true?
Options :
| % OnlyA

5 x OnlyB

3.+ BothAand B

4. % Neither Anor B

Question Number : 38 Question Id : 630680367167 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S0 RS OMtIodot:

A 2.8 Doy 8s ;bongeif (1 S"50tr) erfoDVEB, e9d DFD Doy,
B. 2 5085 g3 BT B Doy W003wg Doy

&: DotheT® DB LBHE?

Options :

| % A Sre0

, » Bared

, A s0Bain B e Socr
3.

e A=H o B=H 26 ==

Question Number : 39 Question Id : 630680367168 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statement:

A. Euclid’s lemma says that every integer greater than 1 can be factored uniquely into a product of primes.

B. The Fundamental Theorem of Arithmetic says that if a prime divides a product of two numbers, it must divide at least
one of the numbers.

Which of the following is true?

Options :

| % OnlyA

, % OnlyB

3 % BothAandB
4+ Neither Anor B

Question Number : 39 Question Id : 630680367168 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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S0 25670 DOGEIos ol
A 15083 DEDD DB FT0S°I) DD Do zoT DY SOEFOTROMT 0D CrSE Tadory DewiTod.
B. evogtiedes Jredog PO P00, 2,8 PP Vo) Totd Doafw VFFY) &PhY. b & Do’ SAV0 2.8 Doy
220007 2300z ).
DAS® D& DeEsgD0?
Options :
% A Sorado

, « Bared

3 % A s0boiw B en Goctye

4 A=) o B=h 26 seco

Question Number : 40 Question Id : 630680367169 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statement:

A. Divisibility By 4 — The number formed by its last two digits must be divisible by 4.
B. Divisibility By 5 — The units digit must be 0 or 5

C. Divisibility By 6 — It must be even and divisible by 3

Which of the following statement holds true?
Options :

| % OnlyA

, % OnlyB

3 % OnlyC

4 v ALAB.C

Question Number : 40 Question Id : 630680367169 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S0 2550 DOGtodol:

A 4 TR erBoSEHNG - T DDO Botd 905067 L‘Jcs;}&aﬁ R0y GOYDOBIT 4 TPO° PO,
B. 5 o(or arflosseacot - 2058 g‘*aoeffa €903 SN0 0 So° 5 900 eord

C. s o erHosabiad - ad DX);)DK)@TT“ b foom_;r? auBoin 3 AN erHocsat®
S0d e D6 DSgE0?

Options :

| % Aarad

)« Bared

s % Cored

A,B,C =
Lo NB SRR
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Question Number : 41 Question Id : 630680367170 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following:

A 12 1. -2mod7

B. 15 2. Omod!10

C.20 3. Smod5
Options :

| v AliB-3:C2
5 % A-LiB-2:C3
;% A-3:B-1:C2

4 % A-2:B-3:C-l

Question Number : 41 Question Id : 630680367170 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Brba) D 2BDONOC.:

Ak 1. -2mod7
B. 15 2. 0mod10
C.20 3. Smod5

Options :

| v A=, B-3 C-2

> % A=, B-2,C-3

3 % A-a. B-1. C-2

4 % A-2,B-3,C~

Question Number : 42 Question Id : 630680367171 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Fermat’s theorem which of a P -a is integral multiple of which number?
Options :

Lv P

2. W p"l
3 % P2

4. ® p-a
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Question Number : 42 Question Id : 630680367171 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

D06 Hroso PSTCo "-a D8 I Doy g, PATEON (Driao?
Options :

v P

2. % P
3. % p'2

4. % p-a

Question Number : 43 Question Id : 630680367172 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following matrices:-
1 0
A2 4
[l 4
B=l-1 2]
[0 2
O [
Arrange the determinants of matrices in the increasing order?

Options :
L% A<B=C

7 % B<A<C
3 8 C<A<B

4.« A<C<B

Question Number : 43 Question Id : 630680367172 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Z0d Aorgise Didodod-

A=[
1 4
B[4 3
C- [_01 2]
SPASO IGO0 es8 aee Ganoed’ €900 0L

Options :
1. ® A<B=<C

> # B<A<C
328 C<A<B

4. A<C<B
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Question Number : 44 Question Id : 630680367173 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given are the steps to find Euler’s Phi function:

A. Find the numbers that are less than n and coprime to n

B. Consider the mumber n

C. Count the number of that elements which is equal to Euler’s phi function
Arrange the above steps in chronological order?
Options :

| & AB.C

, % B,C,A
; % ACB

4 v BAC

Question Number : 44 Question Id : 630680367173 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

adwred aiog),  (Phi) 92005070y Sufiae=d3 c3en mdgmgron

A N S06) B8, DBOID NS DIPRLTR DOWDLLVTT &) Do ST
B. n Doagan HBricdoeTd

C. aswreb aong), @ (Phi) 2005703 D05r0z0d dureste Doy T8 0erd
D GBO DIDED0ES” IVENOE.

Options :

= ABC

, % B.CA
5% ACB

,v BAC

Question Number : 45 Question Id : 630680367174 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a group?
Options :

| = Setof integers with respect to integers

5 « Setof integers with respect to subtraction
5 % Set of Real numbers with respect to addition

4 » Setof rational numbers with respect to addition

Question Number : 45 Question Id : 630680367174 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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208 are3eT” DO (FPD (HaETEPo) SRE?
Options :
PG Rofe DT PP oA a0

DIDSVD0 DOOTT QTG DoV 00
20500 DOOTT 7R DAL DB

P0SDD0 DOOTT ISCEIOT Roafe DD

Question Number : 46 Question Id : 630680367175 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number of elements of cyclic group of order 6 that can be used as generators of same group also?
Options :

1. % 3

2 #® 5

3.$34

-

4.

Question Number : 46 Question Id : 630680367175 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2983 WI"IP0 G308); BASITOTTT SIC €003 107 e308(@ B0 ts0) 6 B8, G800 D00 aBg),
DO 0D ST o

Options :
1. % 3

2. % 5

4.4 2

Question Number : 47 Question Id : 630680367176 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not the property of normal subgroup?

Options :

| = Ifevery subgroup of a group is normal, then the group may be non abelian.
, % IfHis asubgroup of index 2. then H is normal

;3  IfHis normal, then H is a subgroup of index 2

4 % 1ie} and G are improper normal subgroup of G
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Question Number : 47 Question Id : 630680367176 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

308 TOS” & DO & DITEPO GING); VL0 T2
Options :

L% DTS DA & DT 90PN, DANTET PR DB S,

5 % H eom8 fé.‘roﬁé:l 2 O0g), & DT eaoo0®d, H eadderozo

3 @ H eseo2ogndd, H e95dd @ocsy 2 alog), &2 Dawrsro

" ey subain G edd G TS, DS WDV €5 VDT 0

Question Number : 48 Question Id : 630680367177 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Which of the following is not correct?
Options :

| » IFG/Z(G) is cyclic, then G is abelian.

) % If O(G)=21, and G is non abelian, then Z(G)={e!
3 % If G is abelian, then G/H is abelian

4 If G/H is abelian, then G is abelian

Question Number : 48 Question Id : 630680367177 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Zod e DA DDA SReL?

Options :

| % G/Z(G) 5800208, G 920 9BDaDD.

> % OGr2a1, swdoin G Do 5206 wand, Z(G)-{e}
3 % G eoB3dabd esond, G/H ed3dond

4 v G/H 02838005 ond, G eo8dansd

Question Number : 49 Question Id : 630680367178 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If f is a homomorphism from G to G’, then which of statement is true?
Options :

| % f(e)=e’, where e and e’ are identity of G and G’

, » f@h)=[fa)]?

3. % O(f(2))/O(a)
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4« All given options are correct

Question Number : 49 Question Id : 630680367178 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
f 538 G oot G’ 50D &7) DAATDS 900H, D HSOD DSFAD?
Options :

| % f (@)@, qE) ¢ e Sudciv e'en eoad G sodboin Geo @@3&1}“0%‘&33)(&)&093@3)

, » f@hH=[fa)]?

3 = Oy O

PN DENTPODN 0OD
A 2 ) e wit

Question Number : 50 Question Id : 630680367179 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
DB DBDG DanrEre G DO w8 PIPoee DENTIEIS BooErDS” 9D I Ngroso ) ob?
Options :

Z0008 oo
w (]

8
) % 9035 c\)gﬂo@o

Herd horodo
3, % & @

o0 PO DPoo
4. 8 @

Question Number : 50 Question Id : 630680367179 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which theorem states that, “Every finite group G is isomorphic to a permutation group™?
Options :

| Cayley theorem

> % Wilson theorem

3. % Bolzano theorem

4. % Cantor intersection theorem

Question Number : 51 Question Id : 630680367180 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How many elements of order 2-SSG are present in G, where O(G)=144?
Options :

1. ® 12
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) w 14

3.¢ 16

4. % 18

Question Number : 51 Question Id : 630680367180 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
O(G) = 144 29000530 e5G6(ED"E0) 2-SSG Dws), JDY durwsten G e5° &™) 000?

Options :
1 ® 12

) % 14
3. 16

4. % 18

Question Number : 52 Question Id : 630680367181 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statements:

1. G is a group with respect to addition

II. G satisfy commutative property with respect to addition

Which of the following condition is necessary for the non empty set to be abelian with respect to addition?
Options :

| % Statement I is sufficient to answer the question

, w Statement II is sufficient to answer the question
3 Both the Statements are sufficient to answer the question

4 » Neither I nor IL is sufficient to answer the question

Question Number : 52 Question Id : 630680367181 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
S0 RSeOUN DBl -

[ G e9dd Ho5errdS Ho2)0H00d 8 DT

II. Dogeorrdd Dowodod DAL THaird) G DoBRHER0H

20SOFIS 2o2080ed) FFBC DD BT EocerdS 20d THS D OB BDVG?
Options :

L 3) £ DAFTODEIS DO | 2B e006

et

@)

, x D3 DOrTroo QTS DSOS || DB B0s

) 9 DATTAMDETIS Tocd PEOMLL DO T

ol

<
(‘.

@3

) £ VOO0 QOIS |5 Fo ll ed LT
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Question Number : 53 Question Id : 630680367182 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statement:

Assertion:- If O{G) = 125; and G is non abelian implies centre Z(G) has 5 elements

Reason:- If O(G) = p3'. and G is non abelian implies centre Z(G) has p elements

State which of the following statement is correct?

Options :

|« Both Assertion and reason are correct and Reason is the correct explaination of assertion

, % Both Assertion and reason are correct and Reason is not the correct explaination of assertion

3. % Assertion is true but reason is false

4. % Assertion is false but reason is true

Question Number : 53 Question Id : 630680367182 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
206 250 0ot -

DS 550:- OG) - 125 9000B; 200030 G DO T BV wod Z(G) Sogo 5 rosro SHH Gotnod

e0e0:- O(G) = p3 e9008, s0doin G e9dd 0 9DBand eond Z(G) Sogo p surese) SHA cotvod
300 5" IO DJDE Idyolr

Options :
L DG DPSfo a0BOIW S°GEs0 Tottr DI AWBCID SPEEe0 VRO AFINGTSDS DT D0

, % QNG D50 DDBATD S°0Es0 Totir DJHDD SOOI S°0Es0 IO DN TP5IS DB DaGEs S

3 % DINB Tgfo DSFAD =5 560 €S0

L% DI T°EG0 IBHID =55 5rGmo RS0

Question Number : 54 Question Id : 630680367183 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statements:

A. A normal subgroup is a subgroup that is invariant under conjugation by any element of the original group
B.asubgroup Hof Gisnormal ifandonlyifgH=Hgforany g€ G

C.Hisnormal ifandonlyifgH g 1-H

Which of the following statement is true?
Options :

| = ALA B, C

, ¢ OnlyAandB

3 % OnlyA
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4 % OnlyBandC

Question Number : 54 Question Id : 630680367183 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
308 PSRV DOEIod0C:

A: 2.5 Do D DIFIPO DA 90D DAPITES D IFT oS TTE Voci)e 306 ATENSD
&8 DAETO.

B: 28~ g € G %0 g H = H g ©2008 20°g0 G o3ws), & daariro H eodeoo

C:gHg'=H €9000R4E PGS0 H e9deoo

20d ardeS” DO D0od?

Options :

. A /B, Cenedy

1.

, » Aaodoin B argdd

L » Aared

4% B 0803w C en ardsn

Question Number : 55 Question Id : 630680367184 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statements:
A. The identity element of a quotient group is the normal subgroup itself.
B. If N is a normal subgroup of G, the Order of G/N is equal to the order of G divided by the order of N. That is, |G/H| =
IGI/N
C. Quotient group of an abelian group is abelian, but the converse is not true

Tell which of statement is true?
Options :
| % OnlyA

, % OnlyB

3 % OnlyC

4 All A B. C are correct

Question Number : 55 Question Id : 630680367184 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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S0 PSOLN Dbl -

A @55-:93;3&@531@095) R0 GIVE), SET° TPISH V02 €3 DTN E0N06.
B.N o2& G aD0g); D02 6D DDET0 OB, G/N a00g); DBDTER0 N a308), »Barmod erhosadd G

a308); D8AEFEDE Do, 06, 1IG/H - 1IGINI

C. eo3aHS Haoursro aiog), Q}é@bm&@‘hcﬁm@ HouTero e9BdoHha, 55 DDGFRD Do S

2 RSOD 1Pl Iyol?
Options :

A Sorgao
1. ®

A, B,Cen e::.fjcl ESTeINre)
4.

Question Number : 56 Question Id : 630680367185 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Match the following:

C. onto homomorphism from Z>p07 to Zao0s

A. The number of homomerphism from Zgto Z12 1.2
B. onto homomorphism from Z12 to Zg 2.0
3.6

Options :
R4 A-3:B-1;C-2

, % A-1:B-3;C-2
; % A3:B-2;C-l

4 % A2:B-1:C-3

Question Number : 56 Question Id : 630680367185 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

306 TPHD aaooiot:

C. Z, 057 A00G Z,, ¢ SIS DOER) 0P

A Zg 2008 Z,, 0D DaDARHE D0 1.2
B. Z,, 0d Z, 56 Pofa) Ha0EPHe 2.0
3.6

Options :
| A-a. B-1. C-2

> % A= B-3,C-2
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3 % A-a. B-2. CA

4 % A-2,B1C-3

Question Number : 57 Question Id : 630680367186 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which theorem states that, "Every group is isomorphic to a permutation group, i.e.. a subgroup of a symmetric group"?
Options :

| Cayley theorem

> % Wilson theorem

3. % Hilbert’s theorem

4 » None of the given options

Question Number : 57 Question Id : 630680367186 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
DA DT 28 D0 DATDEDS BLeIATDG, €208, 2,8 FPD DAFET0 MG, ED VA" D D dgrodo
Ealej );0t006?
Options :
32,
L 3018 REroso

8
5 % 9035 @gﬂo@o

5 2
3 % m@QQ ra%j“oejo

4 % DO TL

Question Number : 58 Question Id : 630680367187 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the number of r cyceles in a symmetric group in chronological order?
A, number of 3- cycles in Sy

B. number of 2- cycles in Sy

C. number of 1-cycles in Sy

Options :

1. A=B>C
7 % A<B<=C
38 B<C<A

4. % BA>C

Question Number : 58 Question Id : 630680367187 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0
r osoire SLEYEY I3 DA RG0S €900 0

A:-S,&5" 3- sdoire SEESY
B:- §,¢" 2- sdoire SLEVY
C:-8,¢5° 1- ssaire [SLENY

Options :
.« A=B=C

> % A<B=<C
; # B<C<A

4% BA=C

Question Number : 59 Question Id : 630680367188 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Following are the steps to find Inversion of the permutation:-

A. Let p be any permutation

B. You will find inversion of each element by calculating the number of symbols less than fii) and right to f(i)
C. Find inv(p) = Xiey Inv (i)

Arrange the steps in chronological order?

Options :
1.« A B C

, % B,AC
3' ® C-.B-.A

4% ACB

Question Number : 59 Question Id : 630680367188 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
DO 0308), DS'D0PD) SOFTITIS 30d 5Fed &) 0i-

A p DBaF Hro eaoFod
B. Do fii) S0 5,0 a0dodw f(i)d e &) DDF o Doaxad T eicio TPT™ DA darwSe TG,
DS’ BT S0t

C. inv(p) = Ziey Inv (i) 9 sofotrod
CGFORD DRS00 29200y 0C

Options :
v ABC

, x BAC
3 ® CBA

. % ACB
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Question Number : 60 Question Id : 630680367189 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statement is not correct?
A.a~+DbeR, foralla,b€R

B. Forevery a€R, wehavea+0=a=0-+a

C.Fora, b, c€R, wehavea+(b+c¢c)=(a+b)+c

D. For every a in R, we have alsuch thataal=e=ala
Options :

| % OnlyA

» % OnlyAandB

; % OnlyBandC

4 v AllLA, B, C, D are correct

Question Number : 60 Question Id : 630680367189 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
S0 S DO DPHO TPE?

A a+bER e &S a b€R

B.o3 a€Rs, a+o0-a-0-+aadniod

C.a, b, c€R & Domotoed, a+ (b + €)= @+ b) + ¢ 0 @00
D.R&° 0 a0 a a'-e-a'a edhy Door a' asgpdod
Options :

| Aared

, % A 508030 B en e

3 % B a0dodn C en aorgan

A,B,C,Den eaff)i 208
4.

Question Number : 61 Question Id : 630680367190 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is Principal ideal domain?
Options :

1. % Z

, = Z[i]

3. ® ]-:[ﬂ

4 v All of the given options
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Question Number : 61 Question Id : 630680367190 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
B TS IO DT BG0) PBT0?

Options :
% Z

5 % ZIi]
3 % FIxa

A raa’;saocié oy SoSen

Question Number : 62 Question Id : 630680367191 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the cardinality of element in centre in Dy,
Options :

1% 1

-

2. %

Question Number : 62 Question Id : 630680367191 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

D}, ¢ 30(3065 DOR0E 503 EHFS0B?
Options :

1. % 1

2.4 2

Question Number : 63 Question Id : 630680367192 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Let R be a commutative ring with unity of characteristic 3, then for any p and q in R, we have (p + q}5 =7

Options :
% 0

) v PO+
s x p®-q°
4 % 3Pq
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Question Number : 63 Question Id : 630680367192 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R 0956 Jsaq erseiso 3 g, DIOD HVOLOTP &) G0, & RS’ I8 p o0doin g 8 Ho2odod), (P +

qF -2
Options :
1.% O

) pG & qﬁ
; % P%-@°

4. & 3pq

Question Number : 64 Question Id : 630680367193 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which theorem or lemuma states that, "Product of two primitive polynomial is also primitive"?
Options :

1.« Gauss lemma

, w» Einstein’s creteria of irreducibility
3. % Cantor Intersection theorem

4 % Schwartz lemma

Question Number : 64 Question Id : 630680367193 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"B0CD RO 2ETVDEL VLD ST ?@w&oﬁiﬁ" 93 o i)tg"oei’ao g Taar) ?.jﬁ“boewoé?
Options :

| e chiflj"é

L OO 2O alws), i FEajo

o0 PO DPoo
3 % @

L w 5‘«1:5,% Tary

Question Number : 65 Question Id : 630680367194 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following is not a commutative ring with unity?

Options :
1. ® (Z.._,.}
2. ® (Q-+~r]
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3. 5w ':R-.+e')

s (Z5)

Question Number : 65 Question Id : 630680367194 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

308 DS ISBE EPAD DIZVOD HVONO IS &
Options :

L % £+

) % Q)
3 ® [:R,“‘..)

4. v (L)

Question Number : 66 Question Id : 630680367195 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How will you define kernel of the ring?
Options :

| Kerf={ainR: fia)=0}

) % Kerf={ainR:f(a)=1}
; % Kerf={ainR:f(a)=-1]
4 % Kerf={ainR:f(a)=a}

Question Number : 66 Question Id : 630680367195 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

D0 Hoodo NG, 36) S(eodHo)L Jer DEDFG?
Options :

L Kerf = {R: f(a) = 0 ¢5° a}

) % Kerf = {R: f (a) =1 &° a}

Kerf={R:f (a) =-1¢" a}

3. #®

Kerf = {R: f (a) = a ¢5° a}

Question Number : 67 Question Id : 630680367196 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Let R be a principal ideal domain and p. g be the two non unit elements of R . Then, the ideal generated by p and q is
also generated by ?
Options :
.v P74

R P-4
3 % Ged(p.q)

4 % Lem(p.q)

Question Number : 67 Question Id : 630680367196 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

R 25 Do &9650y B30 awdoiw R 0308); Botd 2 0rdS duroseen p, g ol 04, p 20daiw q oo
GPEFOR0SIED 30y ST TRT° 66 S0NeD00TT?

Options :

1.« P+q

2. W P-4
5 x Ged (p, g

4 % Lem . q)

Question Number : 68 Question Id : 630680367197 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statements:

Statement A:- Z is not a principal ideal domain

Statement B:- Zg is not a principal ideal domain

Which of the following statement is correct?
Options :
[ % Aistrue but B is false

2« Als false but B is true
3. % Both A and B are true

4 % Neither A nor B is true

Question Number : 68 Question Id : 630680367197 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
208 PSS DBtdotied

2S0D A Z 28 IR e3630) DBT0 BT
250 B. Zs 208 Do 5650, 0030 570
Zod THeS” OO D2

42/87



14/09/2023, 18:04
Options :
% A a0 =HB B0

- A e90B0 =5 B 2850

3 % A 508030 B Gocr Deg0

4. % A g B Do Dao soed

Question Number : 69 Question Id : 630680367198 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statements.

A.IfF is a field, then the only maximal ideal is {0}

B. In the ring Z of integers, the maximal ideals are the principal ideals generated by a prime number.
C. The quotient ring R/J is not a simple ring.

Which of the following statements are correct?

Options :

| % OnlyA

, « OnlyAandB

3 % OnlyC

4 % All A, B, C are correct

Question Number : 69 Question Id : 630680367198 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
206 DSV DOTio0C-

A F 280 09008, 9Dyt argdn efsSea ety {0}

B. &rgrosro Z HOO3085°, HTD Roag T (0" e ool DEED RICTED BOSHRD 3T
C. ey dvone R/ Frorom owato s,

308 DSOS D& DBHE?

Options :

| = Aargdo

ZJAme»o:mBmmug;fn
» C argan

3

L% A B, C o0y 253D

Question Number : 70 Question Id : 630680367199 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Consider the following statements.
A. {0, 5} is a subring of Zyj
B.Z[i]={a+ib:a,be Z} is aring
C. Anon-zero element a € R is a zero divisor in R if there is a non-zero element b € R for which ab=10 or ba= 0.

Pick out the wrong statement?
Options :

4% All A, B, C are wrong

Question Number : 70 Question Id : 630680367199 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Z0dd PSOHOUA DOMEdooC..

A: {0, 5} 30 Z,, aiws); &Ddd00w0

B:Z[i]={a+ib: a, b € Z} 2.5 Heodo

C:ab=0g>ba=0 6303355“ %\}0?659“_'90 areso b € R &oéd %‘\30?5592‘90 aureso a € R e938 Res® BIP
2TRFD.

€908) PSHI JohE ol

Options :
L A aracy

4 » AB.Cod) ooy

Question Number : 71 Question Id : 630680367200 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following:

A2 2€Q[x] L. is irreducible over Q[x]

[

B. p(x) = W+x2+2 . is irreducible over Z3[x]

3. is irreducible over R
C.x¥-23+x+1

Options :
1 % A-Ll:B-2:C-3

5 v A3:B-2:C-
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3 % A3;B-1;C-2

4 % A-1iB-3:C2

Question Number : 71 Question Id : 630680367200 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
06 0D &-@faﬁaod;

A. x% - 2eQ[x] 1. Q[x] 063 e9&raan
B.p(x)=x>+x2+2 2. Z3[x] Soé evdrasrn
C.xt-23+x+1 3. R S063 e e

Options :

| % A= B-2,C-3

5 « A-3;B-2; C~

3 % A-a. B-1. C-2

4 % A, B-3, C-2

Question Number : 72 Question Id : 630680367201 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following is the example of Euclidean domain?

A. Z. the ring of integers

B. Z[i]. the ring of Gausian integers
C. The ring of integers of Q(+-19))
Options :

| & OnlyA

, % OnlyB

3 ¢ OnlyC

4 » None of the given options

Question Number : 72 Question Id : 630680367201 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Bo0 5 CPSA0DR DATIS GTEPOR DE?
B @g“osmj SHe0Do

B. Zfi1, trhaid QPGroTTL HUOT0

C Q(\') CI0E), RGOS0 DO
Options :

| Aared
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. Bargd

5 v Cargd

4 % QN EJ:.];}SE_JET 28 s

Question Number : 73 Question Id : 630680367202 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List the element the proper subfield of the field with 5 12 elements?
Options :

1 £2 3 c4 6
1.\_/5.5,5,5,5

, » 'B,57,58,54, 56
, x 5%,5%53,545°5

4 % 51r 52. 53' 54. 51.!

Question Number : 73 Question Id : 630680367202 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

5% suroscod Zeo aig), $ EDEG FOSON DT 3ol

Options :
l g2 23 4 £6
| o BhEL 5 st

, B, 57,5% 54, 5

, = 5%,52%,58,54% 58

4 % 51r 52| 53' 54. 51.!

Question Number : 74 Question Id : 630680367203 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Two non zero elements are relatively prime if ged (a, b) = ?
Options :

1. ¢ 1

-

2. &
3. ® 3
4 % aprime number

Question Number : 74 Question Id : 630680367203 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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ged (a, b) - 90208 Dot L0 GG S0TPeISEeD JFDEoTT 9T
Options :
1.¥ 1

2. % 2

3. % 3

4% 2.8 DI 0]

Question Number : 75 Question Id : 630680367204 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is standard basis of R3?
Options :

| v 1e1=(1,0,0) ,=(0,1,0) 5=(0,0,1)}

5 % 181=(1,1.0) &3=(0.1,1) e3=(1,0.1);
3 % 1e1=(1,0,-1) &y=(0.1,0) e3~(-1,0,1)}

4 % {81=(1,0,0) ;=(0,1,0)}

Question Number : 75 Question Id : 630680367204 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
3o arreS” 26 R® divg), grareds escroor

Options :
€,~(1,0,0) €,-(0,1,0) €;=(0,0,)}

Lt
5w {87(1.0) €5=011) €5=(1.0.1}
3w (€r10-1) €,5(0.10) 85101}
4w 1€7/0.0.0) €,5(0.1.0) 3

Question Number : 76 Question Id : 630680367205 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

V=R2 (R) @3 JEF° @0ST°F0 9005tS’, ©:))¢8 (8§08 ae3eS’ V BnE), Galr0dTreo (D)) IE?
Options :

L v (@ b) :a+b=0}

9 % : (EL b] :a=0}

w% 1 (a,b):a<b}

4 % 1 (a.b)a=lbl}

Question Number : 76 Question Id : 630680367205 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Let V=R? (R) be a vector space, then which of the following is a subspace of V?
Options :
| v 1(a,b):arb=0;

, % 1(a b) :a=0}
3 % 12 b) :a<b}

4. 8 {(a. b) |ﬂ|:.b::°

Question Number : 77 Question Id : 630680367206 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 $0% D803 503 EORS VBT BHAH DT BI OWB S &IOWA A &0
Options :

1. % BDADH DTS

2. ¢ BDOH D 5ebo(h

3% XS

4. % BDODH HTES B> BDOH H550|h DE 2,83

Question Number : 77 Question Id : 630680367206 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Any linearly dependent set S of cardinality greater than 1 hasa  subset?
Options :

1. ¥ Linearly dependent

2. ¥ Linearly independent

3. # Non empty

4. % Either linearly dependent or linearly independent

Question Number : 78 Question Id : 630680367207 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R™ (R) BB0EY &3 (BODR) dee3?
Options :

1.¥n

2. % 2n

3. % ]

4. %0

Question Number : 78 Question Id : 630680367207 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
What is the dimension of R (R) ?
Options :

1.¥n

2. % 2n

3.% ]

4. %0

Question Number : 79 Question Id : 630680367208 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
QHDAS S BE DEGOT &0 BE $AD TOLTE (80& e ) ow.
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A. A 2.8 HDASD (€38 e nEod

B. 90 €90¢5T*F0 0050 BHOH O 5e50(¢5 90 DQFD LTS0S
C. (€38 AB0EY 205 VeI EhFS0d
D. @033 3738 D=S"'AS

E. DSNODH S35 S QB D050

2 B3 SEIEN0S” 908 )0&
Options :

1. % A,B,C,D,E

2. % E,D,C,B, A

3.4 A,C,B,E,D

4. % B,D,C,AE

Question Number : 79 Question Id : 630680367208 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Following are the steps to check whether the given matrix is diagonalizable or not.
A. Let A be a square matrix

B. Find the eigen spaces and linearly independent eigen vectors

C. Find the eigen values of the matrix

D. The final matrix D=S"'AS
E. Define the invertible matrix S
Arrange the above steps in chronological order?

Options :

1.% A B,C,D,E
2. % E D,CB,A
3.%A,C,B,E,D
4. % B D,C,A,E

Question Number : 80 Question Id : 630680367209 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Two vectors u and v are orthogonal if and only if ?
Options :

I 2 wenZia 2
| v uv]P=luf 2+
5 s Iuev] 2=l - v[?

5 % [vlP=ful2 v

4 % Iw=v]*=0

Question Number : 80 Question Id : 630680367209 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1 DOOW v @ BOK DA DOVOMT €d) ) Srlhadd 2

Options :

I 2 T [ES] 2
| v Iovii2=ul 24
5 s Iuev] 2=l - v[?

5 % IovlP=|u v

4 % Iwev]*=0
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Question Number : 81 Question Id : 630680367210 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

808 (D8I HBKZod0d.

A.C(C) IO & 1 By, OAQTOBT HW (JFD Q)
B. C (R) @3 & 2 BnE) OAOT0ST S0 (JIE0 ))
2 1DELI0S’ IO HBOE?

Options :

1. % A S(ehad

2. % B X0

3. % A 083% B e 3oy

4. % A5 BB SR D& 570

Question Number : 81 Question Id : 630680367210 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statement.

A. C (C) is a vector space of dimension 1
B. C (R) is a vector space of dimension 2
Which of the above statement holds true?

Options :

1. % Only A

2. % Only B

3.+ Both A and B
4. ¥ Neither A nor B

Question Number : 82 Question Id : 630680367211 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A subset W of vector space V (F) is a subspace of V if and only if

()x-ve€EW: forallx, yin W
(iD¥a€F,x€EW= axeW

Which of the above conditions is required to check W is subspace of V (F) or not?
Options :
1. ¥ Only i is required to answer
2. # Only ii is required to answer
3. ¥ Both i and ii are required to answer

4. # Neither i nor ii is required to answer

Question Number : 82 Question Id : 630680367211 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
DOToSTE0L @DF6 D) V (F) aloog), 600208 V 20000046 a0rgdo

(i) x-y €W, for all x, y in W

ih¥Ya€F x€EW= axelW

W 028 of V (F) aaog), & 0BTW0 NS T8 3D BRI P PASOEFS” DO DIG0?
Options :

1. % 3376700 QAT)0NB0 i S°(eha ©950S0

2. % 33550500 ¥ )OCNBY ii (B3 @IS0

3. ¢ D300 RT3 )0CNB 1 0O ii BOT ©5OS0

4. % JXFErI0 QT YONE i TR B ii 1P €953B0 S

Question Number : 83 Question Id : 630680367212 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0
808 (DEELIOMN D8FSodo&.

A =0 5DA &), BT DD BDOH HTESOMT &0ENOD
B = #7°d5 D& BHOH DT ESOM 50008
C=V IO HONS ST EOA &) DOTOSTF0 90T0G. @) V T30EY (983 &5350 €83 HoseS’

BIALISINEIDJ RCTe A ot
2 DEOSS D& $0)?
Options :

1. ¥ A

2.¥B

3.% C

4. % Q) OBID

Question Number : 83 Question Id : 630680367212 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Consider the following statements.

A = Any set containing 0 is linearly dependent
B = The empty set is linearly dependent

C=Let V be a vector space having a finite basis. Then every basis for V contains the same number of vectors.

Which of the above statement is incorrect?

Options :

1. ¥ Only A

2.% Only B

3. % Only C

4, % Only A and C

Question Number : 84 Question Id : 630680367213 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Match the following vector space with their dimensions?

A R(Q) 1.2

B.RI(R) il

C.CI(R) 3. infinite
Options :

1. ¥ A-3,B-2,C-1
2. % A2, B-3,C-1
3. % A-3,B-1,C-2
4. % A-1,B-2,C-1

Question Number : 84 Question Id : 630680367213 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

S0l VOFTOTV0 (D6 2D) o T8 Doeed Raooioc.

A RQ 12

B RER 2.1

C.CR 3. e9dodo
Options :

1. ¥ A-3,B-2,C-1
2. % A-2,B-3,C-1
3. % A-3,B-1,C-2

51/87



14/09/2023, 18:04

4. % A-1,B-2,C-1

Question Number : 85 Question Id : 630680367214 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
808 ¢3SS° B 5539 OSTFO TINE), C9B0 S°CN?
Options :

% VE W 9008046 S8R0 V + W esd&d V 308, EaFOBTFY0 90000,

5 % V1= V2 EW 00 aFSd v+ W=v+W
3@ V1— V2 EW 005 ) SEgH vy —W=v,+ W

4 n a+W)=av+W

Question Number : 85 Question Id : 630680367214 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not the property of quotient space?
Options :

| % VT Wissubspace of Vifand only if ve W

, # M+t W=v, +Wifandonlyifv,—v, ew

s i W=v, +Wifandonlyifv, —v, €w

4 % aw+W)=av+W

Question Number : 86 Question Id : 630680367215 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

808 JSNESTOS” DA Jes0?
Options :

| v [SAN v <[ Aull.[jul] < A
5 % [FAu,u>| < |Aul|[ul| > [|A]
3 % [<Au, u=| = ||Au||.[ju]| < [|Al
4 % [<Au, u={ = ||Au||.|[u]| < [|Al

Question Number : 86 Question Id : 630680367215 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following equation holds true?

Options :

| v [FAu u= < Aull.|ju]| < ||A]
5 % [<Au,u>| < [Au]|ju > [|A]l
3 % [<Au, u=| = ||Au||.|[u]| < [|Al
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4 % [FAn, u={ = ||Au||.|uf| < [|All

Question Number : 87 Question Id : 630680367216 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the below steps that are given to find the dimension of Quotient space?

A. Find the dimension of v and w

B. Apply the dimension formula div (&) =dimv—dimw
C. The dimension of quotient space = Dim (v/w)
Options :
1.+ A,B,C
2.% B, C,A
3. % A,C,B
4. % C,A,B

Question Number : 87 Question Id : 630680367216 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
DYBNRD) BOBTFo IS DOITETIY Seff oS Sods ".95358351&3 GO DT wmdaod.

A v SoBoin w A30S); HDBDTEIAD S0 ok

B. 303 Fraerdiv () = dimv — dimw 2 sgodEanod

L
w
C QBN 0BU"Fo CI0E), DORTER0 = Dim (v/w)
Options :
1.¥/A,B,C
2. % B,C,A
3. % A,C,B
4. % C,AB

Question Number : 88 Question Id : 630680367217 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2% x
The scaling transformation T (y) =k (}!) is called dilation map if ?
z z

Options :

1. % 0<k<1

2.¥k>1

3.8 k=1

4. % k-1<0

Question Number : 88 Question Id : 630680367217 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

x X
__ eoon@ e0d 50565 T (;) ke (;)
DR [NAD0 (BFBAM waT°fo) ©32)C000.
Options :
1. % 0<k<1
2.¥ k> 1
3. % k=1
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4. % k-1<0

Question Number : 89 Question Id : 630680367218 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statement is not true?

Options :

1. # Inverse of elementary matrix is a elementary matrix

2. % Every m*n matrix is row equivalent to a matrix in row echelon form

3. # Every matrix is roe equivalent to one and only one reduced echelon form

4. ¥ Two system of linear equation are said to be equivalent if they do not have same solution

Question Number : 89 Question Id : 630680367218 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

808 &¢3° IO HBOO 5°¢?

Options :

1. % PO S (DO 55°5(¢35.)) TSy D00 208 (RS 37735 (DO o &535(¢35))
2% (58 mn STBE @ S50 T ESED o5 (DTERS) EFH0SD STBEL HSFSO

3. % 1D S @SB 2B S0B0W 28 208 §.69 oI5 (DTETS) ErardE Dedrado

4. ¢ BDOH DNES0 TZNEY BO 953000 208 I EOA BHOT €99 DSTS0

Question Number : 90 Question Id : 630680367219 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2 =2 3

For the matrix A=(—2 —1 6] .ifone of the eigen value is -5, find other two eigen values?
¥ Z D

Options :

1.43,3

2.% 1,2

3.% 1,3

4. %25

Question Number : 90 Question Id : 630680367219 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2 =2 3

SrBEA- (-2 -1 6] H i eSS 2863 -5eaondsS,
1 2 0

26 Toch 210 Densderdd Eofidod.

Options :

1.¥3,3

2.8 1,2

3.% 1,3

4. %2 .5

Question Number : 91 Question Id : 630680367220 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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The below are the steps that help in finding the eigenvectors of a matrix

A. Find the eigenvalues of the given matrix A, using the equation det ( (A — AI) = 0, where “I" is an identity matrix of
equivalent order as A.
B. Denote each eigenvalue of A1, Ly, A3, ...

C. Substitute the values in the equation AX = A X or (A—2; ) X=0.
D. Calculate the value of eigenvector X, which is associated with the eigenvalue

Arrange the above steps in the chronological order?
Options :

1.+ A,B,C,D

2. % D,B,C,A

3.% C,B,D, A

4. % A,B,D,C

Question Number : 91 Question Id : 630680367220 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
DG 0108); DAL DHFOD ST DE0eS” DTBALDHE GFen S0 QL0

A det (A - Al) - 0 9D DASOEPD) EDETNOD ADND ATSES A I0g), DD DenDV TS0, ag)c “I” Do A

DT B S0 VG, BSYATD SFGS.

B. M. A2, A3, .. 0308, D DD DendRD IPI0LS0C..

C. AX - MX T (A - M ) X - 0 2D0E08065°D Densdwsn paZdocod.
D. 28 263 X Devadn 88) o0, @0 0D HR0HF e000d0sEod

2 PO DRS00 @M&od_

Options :

1.+ A,B,C,D
2. % D,B,C,A
3.% C,B,D,A
4. % A, B,D,C

Question Number : 92 Question Id : 630680367221 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

X @80 A (DB.08 (DDANO T (x,y,2) T S0° RISDB0E.
Options :

1.¥ T(x,y,2)=(x, 0, 0)

2. % T(x,y,2)=(0,y,0)

3. % T(x,y,2)=(0,Y, 2)

4. % T(x,y,2)=(XX,X)

Question Number : 92 Question Id : 630680367221 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The projection map T (x, y, z) on x axis is givenby _ ?
Options :

.Y Ty 2)=(x0,0)

2. % T(x,y,2)=(0,y,0)

3. ¥ T(xy,2)=(0,y,2)

4. % T(x,y2)=(XXX)

Question Number : 93 Question Id : 630680367222 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e =2 .2
Find the characteristic equationof |—2 3 —1|?
2 =1 3
Options :
Lv A-22(-8)

) = =538
L% A—2D(—8)

L5 A—8)(A-2)+2)

Question Number : 93 Question Id : 630680367222 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

6 -2 2
-2 3 —1|7? cdos), orEels “@h;scssav:ql ganfTaod
2 —1 3
Options :

v A—2—8)
) = =538
L% A—2)(1—8)

L5 A—8)(A-2)+2)

Question Number : 94 Question Id : 630680367223 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

808 NI HBHe3oS0d

A. 2,8 BDODH HBXES & SHEIOMT E0T) X553 €98 DE DO G0N0
B.T 3 &0 ©ons, T & %0

808 e3¢5’ HBIE DE?

Options :

1. % A Qb

2. % B S3(ehodd

3. % A 083 B e 3oy

4. % A5 BB SR & 570

Question Number : 94 Question Id : 630680367223 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statements:
A. A linear transformation is invertible if and only if it is bijective

B. If T is bijective, then TLis bijective
Which of the following is correct?

Options :

1. % Only A

2. % Only B

3. ¥ Both A and B
4. % Neither A nor B
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Question Number : 95 Question Id : 630680367224 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
808 3¢3° B DB (HEES?
A. 28 DF 6 BHOH HBIYS 7S5 S0TFOFR) 5 IFOTE (DBITN0 (3755) TR0
B. DOEBHE OEF H8I3S LT 5ebS SrosR) S5 Lros8 (HBIGI0 (X7°55) FR0H
Options :
1. ¥ A S°(¢hadd
2. % B J°(¢hadd
3. % A OB B e Body
4. % A5 B B 5 D& 5260

Question Number : 95 Question Id : 630680367224 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statement is correct?
A: A singular linear transformation maps zero element to zero element
B: A non singular linear transformation maps non zero element to zero element

Options :

1.+ Only A

2. % Only B

3. % Both A and B
4. ¥ Neither A nor B

Question Number : 96 Question Id : 630680367225 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

6 8 2 4
Findtherowrankof|6 4 2 87
14 12 4 10
Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 96 Question Id : 630680367225 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G 8 2 4
6 4 2 8 [? sy eamd EBD stoffded

14 12 4 10
Options :

1. ¥ 1

2. %2

3.3

4. % 4

Question Number : 97 Question Id : 630680367226 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following equation satisfied by the matrix A= [é g] ?

Options :
L v A2—34+21=0

, % A2—3A—-21=0

3% A2—A4T1=0
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4% A2—A+431=0

Question Number : 97 Question Id : 630680367226 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S0 Dwgorres” Db A- [é ; ? SRS T(T DodyD) BocBo0d?
Options :

L« A2—34+21=0

, % A2—34—21=0

3% A2—A+I=0

4% A2—A+31=0

Question Number : 98 Question Id : 630680367227 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following.

A) T is invertible 1. T is never onto

B) Tis bijective 2. Tl is bijective

C) T is Integral map 3. T is non singular
Options :

1. ¥ A-3,B-2,C-1
2. % A-1,B-2,C-3
3. % A-2,B-3,C-1
4. % A3,B-1,C-1

Question Number : 98 Question Id : 630680367227 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
208 PO 2 DoDoG.

AT 090 D& B0500 (820e5) 1. T JDyeEr Ddofio o
B. T 0936 &qrieeo (BE5D) 2. T &b @E3D)
C. T esddd QFTP0S P00 (oIS 7°§D) 3. T eadd DergEaco
Options :
1.+ A-3,B-2,C-1

2. % A-1,B-2,C-3
3. % A-2,B-3,C-1
4. % A-3,B-1,C-1

Question Number : 99 Question Id : 630680367228 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
808 ¢3S Bow® WS DT0H0 TN, (DEES DE?
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Options :
1. ¥ 158 37738 5 @580 DNESETR), DOhYRIBN0E
2. % (D 33838 Q) ©F .9 DaNEBETR), DO YRNDETIED
3% 158 D8 Sr(BEL DES HOF 0B
4. % D J(@3850 3705 030 B

Question Number : 99 Question Id : 630680367228 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the statement of Cayley Hamilton’s theorem?
Options :

1. ¥ Every matrix satisfy its characteristic equation

2. % Every matrix doesn’t satisfy its characteristic equation

3. # There exist eigen vector for every singular matrix

4. # There doesn’t exist any real root for singular matrix

Question Number : 100 Question Id : 630680367229 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Arrange the dimension of following vector space in increasing order?

C(R), C(C),C(C?)
Options :
L% C(E).cm).c ()

, # CR).C (0. C )
;. % CR),C(0), ()

4 v C(0).CRLC(C)

Question Number : 100 Question Id : 630680367229 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
300 DETOBT T estaes Savoes e900y 0l

C (R), C (C), C (C3)
Options :
e (C3), C (R), C (C)

, x C®),C (3, ¢ ()

;% CR).C(O).,C(CY

4 v CO.CR).C(C)

Question Number : 101 Question Id : 630680367230 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A and B are similar matrices then.
A det (A) =det (B)

B.Tr (A) =Tr (B)

C. Rank (A) =Rank (B)

Which of the statement is true?
Options :

1. % Only A

2. % Only B

3. % Only C

4.+ All A, B, C are correct

Question Number : 101 Question Id : 630680367230 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A 200030 B Darn ardcen DR EDTCI0E.

A det (A) -det (B)
B. Tr (A -Tr (B)
C.8¥5 A -5 DB

DS0HS° DO DToh?
Options :

1. % A S(ehadd

2. % B 3(ehadd

3. % C Sr(ehad

4. % AB,C e @) OB

Question Number : 102 Question Id : 630680367231 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

806 O INEBE0 DB TOASB, W= (z) DOLIOTTF), IVE e (DOHO (DTG DOES) ©0ErSy?
Options :

1% wS B a, b X f(a) = £ (b) @O0

2. w S B a, b R f(a) # £ (b) ©ONSS

3.% weS B a, bR f(a)+ f(b) =0 oSS

4. % wS B a, b ©X f(a) - f(b) = 0 @OV

Question Number : 102 Question Id : 630680367231 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A relation w=f (z) is called multivalued function if which of the following equation is satisfied?
Options :

1. ¥ Foranya,binw f(a)=f(b)

2.+ Forany a,binw f(a) # f (b)

3. % Foranya,binw f(a)+f(b)=0

4. % Foranya,binwf(a)-f(b)=0

Question Number : 103 Question Id : 630680367232 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

808 e3¢S° B E0 BrHNOS &) T BdrS?
Options :

| % cu/ ér=1/r (¢v/cf)
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) ovi ér=—1/r (8w 8)

3 % cw/ ér=1/r (&v /é8) soboswy év/ ér=— 1/1 (du/ ¢8) Tocr

A% RAEIN D) DD 52

Question Number : 103 Question Id : 630680367232 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following represent Cauchy Riemann equation in polar’s form?
Options :

| % Owor=1/r(0v/c0)

5 o OViCr=—1/1 (oW c9)
3 % Bothéu or=1/r(6v/é6)and ov/ ér=—1/r(&w/ 66)

4 % None of the given

Question Number : 104 Question Id : 630680367233 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"3 Y78 S0BA5N NG (HDIDANO VB0 EOLNOA" @ &) DF0S0 0T0EN0E?
Options :

1. % 5 DT°050

2. ¥ BB DTT0H0

3. % JrB0° D00

4. % ) R0 K%S DF0H0

Question Number : 104 Question Id : 630680367233 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which theorem states that, “Every entire and bounded function is constant”?
Options :

1. % Cauchy’s theorem

2. % Liouville’s theorem

3. % Morera’s theorem

4. % Cauchy’s integral theorem

Question Number : 105 Question Id : 630680367234 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Let fus define on a domain D we say f satisfied mean value property at any point a in D if

1 2™ ig i
— % 7
f(a) QRJ.D f(a+re )dﬁ' If 7
Options :
| |z-al<r=D for some 1>0
) % |z-al=r=D for some 10

3 % |z-a|<r=D for some 10

4 % |z-a7r<D for some r>0
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Question Number : 105 Question Id : 630680367234 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2% . 2
f(a- zijo fla+71e®)do if  ? esanads, &390 D p, D &° D Doty ¢ 0 T DO Doehs) BodD DD
T

aJea) ale)ke £9:5) 5:335\3::&3&
Options :

L é:)l 10 % |z-a]<r<D

) % §’:3);L =0 o9 |z-a/>r>D

3 % é‘.’i);l =0 0 |z-a<1>D

4% g2y 120 09 z-a/>1<D

Question Number : 106 Question Id : 630680367235 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
BF0 D &S’ D[ BO DOCYEN a BN b & H0D0E0D) B e9DEN0 DI 0N, 5E ODOTHSE
?

Options :
| la-b=R

) % a-b|<R

3 ® |a-b|=|0

4 % [a-bl-R=1

Question Number : 106 Question Id : 630680367235 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Taylor’s series is divergent if for any two points a and b in domain D, we have  ?
Options :

| la-b=R

) % a-bj<R
3 #® la-b[=(0

4 % [a-b]-R=1

Question Number : 107 Question Id : 630680367236 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the residue f (z) =z+1/z+1/z°+... at z=infinity?
Options :

1.*%¥0

2. %]

3.9 -1
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4. % 2

Question Number : 107 Question Id : 630680367236 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

z= 900850 DG f(2) =z+1/z+1/77+... 0DBFD) SOFDol?
Options :

1.%0

2. %1

3.9 -1

4 %)

Question Number : 108 Question Id : 630680367237 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Let £(z) be single valued analytic function in a simple connected domain D, if a, b are in D, then (JT (z) dz) over the
limitsaand b= . where F (z) is and indefinite integral of £(z) ?

Options :

1. ¥ F (a)

2. % F (b)

3. % F(a)-F (b)

4. ¥ F (b) -F (a)

Question Number : 108 Question Id : 630680367237 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
f (2 028 28 Foroes VTrIS PBFo DS° 2,8 Dend sdAD HFVEFE) S Hdooto ol wsdva ben D &

&:06 ([f (z) dz) ©95& a s0dasw b - 0BG coenod. ag) e F (Z) &otod dnBosn b T (2) g, eIy

RAFEDD.
Options :

1. # F(a)

2. % F(b)

3. % F(a)-F (b)
4. ¥ F (b) -F (a)

Question Number : 109 Question Id : 630680367238 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following is necessary condition for the differentiability?

Du,=—v,,

where u,, u,, v, U, represents partial derivative of u and v with respect to x and y respectively?

Options :

1. % Only1

2. % Only II

3.+ BothIand II
4. % Neither I nor II

Question Number : 109 Question Id : 630680367238 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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erasoDoe B0 Sob o735 DO e9DR0RLD DOBL

Uy, Uy, Vy, Vy 20000 x 00050 y DEOT u DO v
© FEE @S5I HrdW

Il u, =—v,

Options :

1. % T S5(ehad

2. % 11 S°(ehadd

3. ¥ 10005 1T BOcy

4. % 1520 B 1 5°Q D& 5°¢0

Question Number : 110 Question Id : 630680367239 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

80& (DEEND HBKBovod

Af (2) =utiv IO D (HTFOS 2.8 IFNE (D00 9008, € )¢ SEHe0 u=030, v=030 Boc 028305
BOEN0TOI) DS IO 0N

B.f(2) =utiv IO D SIS’ 2.8 SFE (IeHONO0 900 €959 1680 S[Eehen u=0 50, v=0380 BO 5 SEBHD
DB HBTON

Options :

1. ¥ A S(ehadd

2. % B r(ehadd

3. % A B8O B &0 BOy

4. % A5 B B 5R DA 520

Question Number : 110 Question Id : 630680367239 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statement.
A. If f (z) =u+iv is an analytic function, in domain D, then the curves u=constant, v=constant form two orthogonal families
B. If f (z) =u+iv is an analytic function, in domain D, then the curves u=constant, v=constant form two symmetric curve?

Options :

1.+ Only A

2. % Only B

3. # Both Aand B
4. % Neither A nor B

Question Number : 111 Question Id : 630680367240 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statement.

A Iff(z)= (x+2) +5vi then for any z, £ (z) is

B.Letf(z)=(cosz) /z(z-4)and C= {z: |z = 1} then [f(z) dz is

C. Let f(z) be an entire function and f(z) = (kz) for some k with |k[>1, for all z in complex number. Then
1. f is constant

2. Y encircles the point 'a' K times in clockwise direction.

3. fis not differentiable for any n
Options :
1.¥ A-3,B-2,C-1
2. % A-1,B-2,C-3
3. % A-2,B-3,C-1
4. % C-1,B-3,A-2
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Question Number : 111 Question Id : 630680367240 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
S0 RS OMtodod.

A f(2Z) = (X+2) +5Yi 9008 Do Z 8, f (2) 02D
B.f (2 - (cos z) /Z (z-4) b0 C - {Z . 121 = 1} 908l 09D If @ dz eodes

C. f (@) 936 %rd Davaio e300, adoin “&még ?ooa)?geﬁ" D 9 Z & Do2osod), Ki1és gy ksxf@-fka

£900083, 9—"3’3’3@
1. f ?gdoﬂ" Gotod
p 195 5 :o.;j?gn‘::.%ej‘ Dot @ K Frdd c0g0a0eeod.

3. f 306 DB NS 955000 T7ED
Options :

1.¥ A-3, B2, C-1

2. % A-1,B-2,C-3

3. % A-2,B-3,C-1

4. % C-1,B-3,A-2

Question Number : 112 Question Id : 630680367241 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following functions.

A.sinz
B.cosz
e

D. Y,z

Which of the above is entire function?
Options :

1. % Only A

2. % Only B

3. % Only A, C,D

4. ¥ AllA,B,C,D

Question Number : 112 Question Id : 630680367241 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Z0d p0ciredn Ditdocod.

A sinz

B.cosz

Cer

D.¥a;z

20 DY TS b Koo o
Options :

1. % A S
2. % B S(¢hadd
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3.% A C,D e Sreded
4.+ AB,C,D e @)

Question Number : 113 Question Id : 630680367242 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statement.

A f(z) = ﬁ has singularity at infinity

Bipt)= Qz—l_l has no singularity

Gl = i has no singularity at infinity

Which of the above equation is true?
Options :

1. % Only A and B

2.+ Only A and C

3. % Only B and C

4. % Only B

Question Number : 113 Question Id : 630680367242 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
S0d 5370 Dol

1

A-f(z) = 29,3050 53¢ DerE BaDEBD ¥R &od

sinllz
1

B:-f(2) = == negdabeac 100 aos
Ci=f(2) = - edoso 5¢ DogBaHe SO &GOS

2 dNEGToS’ IO HDoO
Options :
1. % A B0 B S°(¢hadd
2.9 A 0BAW C S(ehadd
3. % B 08050 C Sr(edad
4. % B X

Question Number : 114 Question Id : 630680367243 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Iff(z)=2*{cos (1/z) } then residue of f(z)is  ?
Options :

1. % 1/12

2.9 124

3. % /12

4. % 124

Question Number : 114 Question Id : 630680367243 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(z)=2{cos (1/z) } ©00S, T(2Z) @80 __?
Options :

1. % 1/12

2.¥ 124

3. % -1/12

4. % 124
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Question Number : 115 Question Id : 630680367244 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
limf(x) = [ if and only if for any >0 there exists 6>0 such that |f(x) — | < € whenever ?

X—=a
Options :
L¢0<H—M<&0<W—M<5

230<M—M<&0<W+M<5
3Q0<u+m<&0<W—m<5

4&0<M+M<&0<W+M<5

Question Number : 115 Question Id : 630680367244 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
232 e>0 & limf (x) = 1 90NN |f(x) — | <€ 90T DGO 50 €008 A6 JayEok ?

Options :
1¢0<M—M<&0<W—M<5

2w0<H—M<&U<W+M<5

3QG<M+M<&U<W—M<5

4ﬁ0<h+m<&0<w+m<5

Question Number : 116 Question Id : 630680367245 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Steps to find the directional derivatives of u at the point a are as follow.

A.Find lim ) , if extists.

h—0
B.puta+ hu= (a,b) + h(u,u,)

fla+hu)—fla
h

C.a+ hu= (a+ hu,;,b + hu,)

Arrange the above steps in chronological order?
Options :

1.v¥ A,B,C

2. % B,C,A

3.%AC,B

4. % C, B, A

Question Number : 116 Question Id : 630680367245 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Do) @ O U 0305), BIS aPFBHRY) A (E0ES CODSD) V) ST OIS BT S0b DGOTT &) 00

A Iimf(“huj —flal

=t -t ) ©00B
h—0 N

B.puta+ hu = (a,b) + h(u,;,u,)

C.a+hu=(a+hu,b+ hu,)
2 OGP0 DRG0 €9530¢y0C
Options :

1.¥ A, B,C

2. % B,C, A

3. % A,C,B

4. % C,B,A

Question Number : 117 Question Id : 630680367246 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Find the particular integral of (D2-2D+4) y=e*cosx ?
Options :
e*cosx
Lv 2

) % e*cosx

e sinx
3. % 2

4 % e*sinx

Question Number : 117 Question Id : 630680367246 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
(D2-2D+4) y=e*cosx 0308, Q@F DATFSUDD S dod
Options :
e*cosx
1.v 2

) % e¥cosx

e*sinx
3, % 2

4 % e¥sinx

Question Number : 118 Question Id : 630680367247 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the solution if differential equation given by y”+4y=07
Options :

| % €18in2x

) % €1€082X
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3« C185in2x+c,co82x

L
4 % €1SIN°Xx +¢,

Question Number : 118 Question Id : 630680367247 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YV +4y=0 €93 9050 DAECE0 QINI00S TGO ST S0d?
Options :

| % €18in2x

» % C€1C082X
3 & €18iN2x+c,co82x

i
4 % €15IN°x+c,

Question Number : 119 Question Id : 630680367248 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

€00 Mdx+Ndy=0 €383 DaEBEI0 & EDISHTOE (exact) Q) OEFED.
Options :

aM B dN
| Y C dx

BN_BM
, x 0y 0x
BM_
3 % dy
BN_O
4. & Bx_

Question Number : 119 Question Id : 630680367248 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The differential equation Mdx+Ndy=0 is called exact if ?
Options :
aM dN
L v 9y Coax

adN oM
) % 0¥ T ax

aM

3 % dy

aN

4. ® dx B
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Question Number : 120 Question Id : 630680367249 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An integration factor of ¢ i—': +@Bt+Dy=te *is:
Options :

L&t g3t

Question Number : 120 Question Id : 630680367249 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

d

- dr: + (Bt + Dy = te " clug) LISV S°OEFoso

Options :

4 tegt

2 ® tet

Question Number : 121 Question Id : 630680367250 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find general solution of (g)z —3 (%) +2=0

Options :
L (yv—x—c)ly—2x—c)

,x +tx—c)y+2x—c)
3 % (yv+x)y+2x)=c

4% (yv—x)y—-2x)=c

Question Number : 121 Question Id : 630680367250 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
dy

(E)z 8 (%) +2 = 0 o3wg), Foroem FEdd STl
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Options :
. (yv—x—c)ly—2x—c)

5 % (yv+x—c)ly+2x—r¢c)
3 % v+x)y+2x)=c

4% (v—x)y—2x)=c

Question Number : 122 Question Id : 630680367251 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Cospx Cosy+ Sinpx Siny=p 2°8 § €938e> DWEBETR), Q00
Options :

1.« Y=cCX- cosle

1

7 % Y=cx+cos ¢

3 % Y=cx

4. % Y=cx+2

Question Number : 122 Question Id : 630680367251 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Solve the partial differential equation Cospx Cosy+ Sinpx Siny=p?

Options :

1.« Y=CX- cosle

) ® Y=cx+ cosle

3% Y=c¢x

4 % Y=cx+2

Question Number : 123 Question Id : 630680367252 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
If any equation is of the form y = px + f(P), then what will be the form of its solution?
Options :

| x fle)=0
, v ¥Y=cx+fl(c)
s % Cx+f(O)=0

4. 8 f(C)=O

Question Number : 123 Question Id : 630680367252 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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o7 2EGEo y = px + f(P) 6100e5° &of, oD FED GI0E), Grdo JD?

Options :

1. ® f(c}=0
, @ Y=cx+fle)
s % Cx+f(O)=0

4. ® f(c‘)zo

Question Number : 124 Question Id : 630680367253 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statements.

A. If yy and y, are linearly independent in domain D, then they are linearly independent on every superset of D.
B. If y; and vy, are linearly dependent in domain D, then they are linearly dependent on every subset of D.

Which of the following statement if true?
Options :

1. % Only A

2.+ Only B

3. % Both A and B

4. # Neither A nor B

Question Number : 124 Question Id : 630680367253 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
208 PSS DBtdotied

A D 055%085° y; a00030 ¥, &0 ISHFrA0m HordTrenT Gof, D otus), 98 e 6 2d” ©d Jsardanorr

DGB0GOTT E0T00

B. 330 D&° y; anBomn y; Isardah Doeddore €0, 9D D aing) 08 edddddp ISHraon Hoddon

E08P000

S0d TS DO HPode
Options :

1. % A S(¢hadd

2. ¥ B S°(¢hadd

3. % A OB B &0 Doy

4. % A5 BB 5 & 570

Question Number : 125 Question Id : 630680367254 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statements.

A. Particular integral of (D?+2D+1) y=¢e*ise%4

B. Particular integral of (D*1) y=sin2x is -sin2x/3

Which of the following statement is true?
Options :
1. % A
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2.% B
3.+ Both A and B
4. % None of the given

Question Number : 125 Question Id : 630680367254 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Z06) 2S00 DBt

A (D*2D+1) y = €e* 008y, HBIS DTSV e2x
B. (D%+1) y=sin2x G308, VBYS DATSO -sin2x/3

S0d oS DO HPobe
Options :

1. % A

2.%B

3. ¢ A OB B &0 DOy
4. % DI DD 5%

Question Number : 126 Question Id : 630680367255 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following statement is true?

A. The solution of exact differential equation is

fde+de}r=C
B. The solution of exact differential equation is of form

f Ndy+ f{te’rms in Mnot containing x)dx =C

C. The solution of exact differential equation is of the form

d
fde+f (N—a—vJ’de)dyzc

v=C

Options :

1. % Only A

2. % Only B
3.4 Only C

4. % AllA,B,C

Question Number : 126 Question Id : 630680367255 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Z0d DS DH Dae

A €D\ 080D HE0s0e0 08, TGS

[Mdx+ [Ndy=C

B. sd\& g0 PDosde0 amoos), TGS dFEDo

f Ndy+ f(terms in Mnot containing x) dx = C
X=C

C. Sc'ﬁa@ 2IDSOD DASGE0 O?kJJS‘b FGD Do

a
fde+f (N—EJ’de)dy=C
y=C g
Options :
1. % A S(ehad
2. % B dr(ehadd
3.9 C Sr(ehad
4. % A B,C o)

Question Number : 127 Question Id : 630680367256 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the following statements.

A. The particular integrals of homogenous equation is given by 1/ (Mx+Ny)
B. For linear differential equation j—’v + Py = @ . the integrating factor is glPdx
X

C. For linear differential equationj—x + Qx = P ,the integrating factor is o] @dy
v

‘Which of the following equation holds true?
Options :

1. ¥ Only A

2. % Only B

3. % Only C

4. ¢ AllA, B, C

Question Number : 127 Question Id : 630680367256 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Z0f RSO DhNtdoded..

A Derdion DRS00 O30Sy, VBIS DarsLVLD 1/ (METNY) TP(0° QOG0
B. D5307°6 222950 DASCEFIS 20206008) DETFSVR SOEToS0 ? +Py =1
X

C. 8Han e9ds00 HDELSGE0 j—“" +Qx = P & 020008
ok

Harswa Mg ef 24¥

HeS® D& HHgode
Options :
1. % A S(ehad
2. % B dr(ehadd
3. % C Sr(ehadd
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4.% A, B, C e o)

Question Number : 128 Question Id : 630680367257 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match the following.

A. (D*+2D+1) y=e* 1. e7¥%/9

B. (D+1) y=e* 2.2

C. (D%1) y=e°* 3. e3%/8
Options :

1.¥ A-1,B-2,C-3
2. % A2, B-1,C-3
3. % A-3,B-2,C-1
4. % A-1,B-3,C2

Question Number : 128 Question Id : 630680367257 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
O D BBB0T0k.

A. (D?2D+1) y=e?* 1. e¥/9

B. (D+1) y=e* 2.e%2

C. (D2-1) y=e3* 3.e7%8
Options :

1.¥ A-1,B-2,C-3
2. % A2, B-1,C-3
3. % A-3,B-2,C-1
4. % A-1,B-3,C2

Question Number : 129 Question Id : 630680367258 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the solution of v+ p}{=p2.xj"?
Options :

| = ¥y=clogx+c)

)« y=clogx-c;

3 & Y(© X+t

4 % Y=(c -"'X}—{CXJE

Question Number : 129 Question Id : 630680367258 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
y+px=px OR0g), FED IDO?

Options :
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| & Y=¢logx—c;
5 x y=clogx-cy
3 y=(c .--"::;}—c2

4 % YHC/E)H cx)?

Question Number : 130 Question Id : 630680367259 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Let P be a continuous function on R and W be Wronskian’s of two linearly independent solution vy and y, of ordinary

differential equation y°+ (l+x2] v’+P (x) v=0 such that W (1) =A, W (2) =B, W (3) =C, Then which of the following
equation holds true?

Options :

1. ¥ A<B<CorA>B>C

2.% A<B>C

3. % A>B<C

4. % C=B=A

Question Number : 130 Question Id : 630680367259 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T DSV DS v+ (1+x2) Y'+P (X) y=0 £ 2o20dod) W (1) =A, W (2) =B, W (3) =C 0y DEoTF

Wronskian aiag), 806 ISDORSRB0E Jreden ¥ &0dain ¥y gy R andain Wa P 2,8 DDy DHdvotorr

008 0C. 904D 308 DAVECEFLS” IO DTo?
Options :

.Y A<B<CSB*A>B>C

2. % A<B>C

3. % A>B<C

4. % C=B=A

Question Number : 131 Question Id : 630680367260 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the solution of p (p+x) =y2—xy?
Options :
| ¢ Y=ce*

) ® y=-ce*
3 % Y=cx (1)
4 % Y=cx (1-xX)

Question Number : 131 Question Id : 630680367260 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
B0 arOE” p (p+xX) =y2+Xy CI0E), FGD Db
Options :

76/87



14/09/2023, 18:04

|« y=ce*
7 ® y=-ce*
3 x Y=cx (1)

4 % Y=cx (1-X)

Question Number : 132 Question Id : 630680367261 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
808 73S’ O 8 & 29580 DMES0 ?
Options :

Bz_
4. & BJC_

Question Number : 132 Question Id : 630680367261 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following is not a partial differential equation?
Options :

(:lz_o
4. % Bx_

Question Number : 133 Question Id : 630680367262 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
; ’ CER: ; ;
Let Z=z (X, y) is a solution of a—za—z = 1 passing through (0.0.0). Then value of z(0.2)?
x 8y

Options :
1

1. % a4
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2

2.

alw

3. ®
4. ®

Question Number : 133 Question Id : 630680367262 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Z=z(x,y) ®=3& (0,0,0) hom IF
ondS 2(0,2) Dews ?

Options :
1

1.8 @

=2 =1 B ad ;S

dx g

2l

2.

alw

3. %

Question Number : 134 Question Id : 630680367263 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ax+by

How to solve particular integral of — 2
F(D,Ds)
Options :

1. % Replace D by aand D’ by b

2. % Replace Dby band D’ by a

3. # Replace D by -aand D’ by b

4. % Replace D by -a and D’ by -b

Question Number : 134 Question Id : 630680367263 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g aAxX+by

: ? HHE DS I FBod
f(D,Dr)

Options :

1. ¥ D 506’ a H8A50 D’ b0 b  TraHod
2. % D S0S b B0 D’ 50 a  TrohHod
3. % D0 -a 08AN D’ S0 b TP oo
4. % D S0’ -a B30 D” TS0 b Q P00

Question Number : 135 Question Id : 630680367264 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

78/87



14/09/2023, 18:04
Consider the equation y”+P (x) y'+Q (x) y=0, then which of the following is the part of complementary function if
1+P+Q=0?
Options :
1.« €

Question Number : 135 Question Id : 630680367264 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¥ P (%) y'+Q (X) y=0 250D DOicdosod, 1+P+Q=0 2008 308 s8S° Jr0s DRSS arric Ié?
Options :

1.¢ €

) # -e*

Question Number : 136 Question Id : 630680367265 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Following are the steps to solve differential equation

v7+P () v'+Q (x) y=0 using change of independent variables
A. Put Q.--"Z‘2 = constant

+P
B.PutPj=—— Q=2 p, =%

)
z2 zr? 'z

C. Put the values of constants in the given equation, you get the reduced equations?

Arrange the above steps in chronological order?
Options :

1.¥A,B,C

2. % B,C, A

3. % C,B,A

4. % A C,B

Question Number : 136 Question Id : 630680367265 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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DSV DAVSCEED) FHoSTAS S0d R &) 00
Y7 () y+Q (X) y=0 2¢¢80g8 SOT300) S0P R0 &0

jed __®
A QZ°~=JTrosdw

zi+Pzr Q R
B_P]_= Z1h2 5 1=;,R1=; EOIISO(?;

C. ady 0560 D057 DDV EoSol, St S HONSoEFOR) SFocTEd).

D GBIV DEDGV0ES 29200 0l

Options :

1.¥ A B, C
2. % B,C, A
3.% C,B,A
4. % A,C,B

Question Number : 137 Question Id : 630680367266 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
7=ax+by 0 P § & 0IZOS HEB0 2

Options :
Bz+ dz
Z=X_——+y——
| dx ) dy
dz dz
Z=X——YV——
) % dx J dy
dz 0oz
Z=X—.YV—
3 % dx - dy
4. % Z2=0

Question Number : 137 Question Id : 630680367266 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The partial differential equation to z=ax+byis __ ?

Options :
6z+ dz
e e L
L dx 2 dy
dz dz
e
) % dx 2 dy
dz Oz
F=k Y
3 % dx Y dy
4. % Z=0

Question Number : 138 Question Id : 630680367267 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Consider u (x, ¥) = f (xeY) +g (v2cosy) then

(1) Upy T X Uy # U,
() u,, txu,, =u,

Then which of the above equation holds true?
Options :

1. ¥ Onlyi

2. Only ii

3. % Bothiand ii

4. % Neither i nor ii

Question Number : 138 Question Id : 630680367267 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
u (x, y) = f (xey) +g (y2cosy) D H8ricdossod, RIDNED

(1) Uy T X Uy F Uy
(1) Uy, + X Uy = Uy

£9000RY D DOSCEFLES” DA DPod?
Options :

1. % i Sv(ehadd

2. ¥ i S(Hod

3. % { HBA%W il BOy

4% i 805 ii S D 590

Question Number : 139 Question Id : 630680367268 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
For the partial differential equation p—g=pq. which of the following is correct

(i) A solution of charpit equation is g=b
o b
e

(iii) the solution of the equationisz = ﬁx +by+c
Options :
1. % Only i
2. % Onlyii
3. ¥ Only iii
4. All, ii, iii

Question Number : 139 Question Id : 630680367268 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
PAE SR DAS0mo P+4-pq Fo, S0d oreheS” DO DOHH

i) T0yH DSCEI0 AV, FG g-b

i HNEG0 TGy ;S z=55x +by+e
Options :
1. % j So(ehadd
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2. % i S°(ehodd
3. % i S
4.9 i, i, iii @0 @)

Question Number : 140 Question Id : 630680367269 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Consider the partial differential equation Rr+Ss+Tt+f (X, v, z, p, q) =0, then match the following.

A. S2-4RT>0 L. hyperbolic
B. S2.4RT=0 2. elliptic
C. S2-4RT=0 3. parabolic
Options :
1. % A-1,B-2,C-3

2.% A-1,B-3,C-2
3. % A-3,B-2,C-1
4. % A2,B-1,C-3

Question Number : 140 Question Id : 630680367269 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Rr+Ss+Tt+f (X, V. Z, p, Q) =0 LS 2550 DOE600 O DOtdecdod. B TrOHD BBDTN0C..

A. S2-4RT>0 1. DT DVORED

B. SZ-4RT=0 2. B0

C.S2.4RT<0 3. DOPHLODAL
Options :

1. % A-1,B-2,C-3
2.9 A-1,B-3,C-2
3. % A-3,B-2,C-1
4, % A2 B-1,C-3

Question Number : 141 Question Id : 630680367270 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Fos u=f(x+ct) + g(x - ct), a5 f 08I g 936 Tod DXLH DT, BOTD € DO 28 IS

Doflom BCofi DDSCEFAS GRS Doay. 07wt = ¢ (9w 9X) DO HHE Dodod

Options :

1. % (33 eSS

2. ¥ 3oBoY S
3. % OB POS
4. % P PSS

Question Number : 141 Question Id : 630680367270 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The solution u =f(x + ct) + g(x — ct), where f and g are two smooth functions, and c is a positive number, to the one-

. . . i 2 TP A
dimensional wave equation etwot’ = o (FPw éx?) is popularly known as:

Options :
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1. ¥ Series solution
2. % d’Alembert’s solution
3. # Poisson’s solution

4. % Laplace’s solution

Question Number : 142 Question Id : 630680367271 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following can be the vector equation of the line whose cartesian equation is given by x; = 1’2;3 = 22;4 ?
Options :

L x T=([I+]+k)+2(21+])

L x T=(1+3]+4k)+2(20+2))

3w 7= (I+3]+4k)+2(21 + 2] + 2k)

4 « None of the given

Question Number : 142 Question Id : 630680367271 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

%1 - % — 22;4? B AREED SHEand HHSERe aIue), B e, KHT PRLSEEFD) SFv0d
Options :

L T=([+]+k)+2(21+])

, x T=(1+3]+4k)+2(21+2))

5w 7= (I+3]+4k)+2(21 + 2] + 2k)

4. ¥ DI DD 5%

Question Number : 143 Question Id : 630680367272 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following is 3-Dimensional?
Options :

1. # Surface

2.+ Solid

3. # Line

4. ¥ Point

Question Number : 143 Question Id : 630680367272 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
808 ¢3S | BDEB0DEN DE?
Options :

1. ¥ &H0&0

2. % NS0

3. % B

4. % Do

Question Number : 144 Question Id : 630680367273 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Find the equations to the sphere through the circle x* + y? +2z? = 9,2x + 3y + 4z =5 and the point (1.2,0)?
Options :
v, 3(x2+y2+2z2—9)+4(2x+3y+4z—-5)=0

, % 3P +y*+22—-9)—4(2x+3y+4z—-5) =0

5 % 2P +y*+2z2—9)+3(2x+3y+4z-5) =0

4 x 2P +y*+22—9)-3(2x+3y+4z-5) =0

Question Number : 144 Question Id : 630680367273 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
80 TP F DASCEON STl

x24+y2 +22=92x +3y+4z=5 00 Hothay (L2,0)?
Options :
| 3% +y?+22-9)+4(2x+3y+42z—-5) =0

, x 30*+y*+22-9)—4(2x+3y+4z—-5) =0
3 % 4(x2+y2+2z2—9)+3(2x+3y+4z—5)=0

4% 4(x*+y*+22—9)—3(2x+3y+4z—5)=0

Question Number : 145 Question Id : 630680367274 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Find the equation to the cone, whose vertex is at origin and passes through the curves

2+yi+zi=Lx+y+z=17
Options :
| & 2XyT2yzT2ZX=0

5 % 2xt2y+2z=0b
3 % 2xy-2yz-27x=0

4 % 2z-2y-2%x=0

Question Number : 145 Question Id : 630680367274 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
B0 OIVE), :ab;gcsmﬁgl saofFood, HD %‘go 000 DocdY DY Eod B +y*+zi=Lx+y+z=17

HETe o DWW
Options :
| 2xy+2yz+2zx=0

, % 2XT2y+2z=0b
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3 % 2xy-2vz-2zx=0

4 % 22-2y-2%=0

Question Number : 146 Question Id : 630680367275 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
What is the equation of the cylinder whose axis is z axis and radius r?
Options :

2] ¥ 2 3
1 % - e B, e e S

P A T,
, % XotySz=r

.
30 XoTyier?

3 3 i
4 ® Xotzo=r=

Question Number : 146 Question Id : 630680367275 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Z 950 S0BOID .D"{)ﬁ“go I £90003 QI AAEGER0 IDE?
Options :

) 3 ¥ £,
1 ® XUy AT

Question Number : 147 Question Id : 630680367276 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Find the angle between the planes 4x — 2y +2z =12 and 2x+ 2y +4z=147
Options :
211
1. % ?

w| =

Question Number : 147 Question Id : 630680367276 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0
B Gy ?WDQJ SOFdoc 4x —2y+2z=12and 2x+ 2y + 4z =147
Options :
211
1. = ?

w3

Question Number : 148 Question Id : 630680367277 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

180 TS F0509) K800 80 HDSTFTTB0S” A& 8:))?
A. D8 D005 $050sy) T3E), 280 90erSd

B. D& B $080s) @80 @0erdd

C. VS T 080y TWBEY 08 &3 § a0 0ETR.
Options :

1. % A S

2. % B S°(¢hadd

3. % C Sr(ehadd

4.¥ A, B, C o @) OBID

Question Number : 148 Question Id : 630680367277 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following information about Right circular cone is incorrect?
A. The fixed point is called vertex of the cone

B. The fixed line is called axis of the cone

C. The constant angle is called the semi vertical angle of the cone.

Options :

1. % Only A

2. % Only B

3. % Only C

4. % All A, B, C are correct

Question Number : 149 Question Id : 630680367278 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

808 NI HBHe3oS0d

AR BEL OXP0HE0MT 0T FeeE OIEBD DO DHO 2,8 DO 0N TP D SOVON AFH0 &
DENT K.

B:- 2,8 D8 Do Do Ferd8 (B EATT0NE) ARAS 0)B)B0 D0 DGO F0910Y) 90N TP &S §ONON
QN0 €9 DENVTE.

Options :

1% A S5

2. % B 3r(ehodd

3. % A 080% B Bochw

4. % BOC ¢5a))

Question Number : 149 Question Id : 630680367278 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0

Consider the following statements.

A. The locus of the tangents to a sphere which are parallel to the given line is a cylinder called enveloping cylinder.
B. The locus of tangent drawn from a fixed point to a sphere (or conicoid) is a cone called enveloping cone.

Which of the following statement is correct?

Options :

1. ¥ Only A

2. % Only B

3.+ A and B both

4. % Both are incorrect

Question Number : 150 Question Id : 630680367279 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Following are the steps to find equation of sphere passing through the circle );25—y2+22=1‘2. 2x+3y+4z=5 and the point (a,
b, c)?

A. find the equation of any sphere by putting in sphere +k (plane) =0

B. Find the value of k

C. Put the value of the point that passes through it

D. Put the value of k in equation if any sphere, the equation of sphere is obtained.

Arrange the above steps in chronological order?
Options :

1.¥ A, C,B,D

2. % A,B,C,D

3.%AD,C,B

4. % B,C,A,D

Question Number : 150 Question Id : 630680367279 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
X2ty ez?=r?, 2x+3y+4z=5 abaoin Doy @. b, ©) e Bye0 ot DELELDY Hwo e, LAEGEDY

ST HETIS Z30b GIe 07 0.

A Feo +k (©00) -0 &otitto TrT° DB Hvo 030E), PAEEFD) ST Dol
B. k Denacn saoffded

C. oD oo DTy Do DEVDA oS0l

D. da= Hvo, o diug, Dusceo o Kk Dendan Dstes” eosod.

D RO HADGS00ES” €9500N0C:.
Options :

1.+ A,C,B,D

2.% A B,C,D

3.% AD,C,B

4. % B,C,A,D
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